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Mechanical characteristics: ¥ # £ i &

Total rotational angle

*UBAE R
Rotational torque
@ 18 18 7 2~20mN.m (20~200gf.cm)
Rotation stopper strength Without bushing 0.5 N.m (5kgf.cm)
IO EE BEE
With bushing 0.6 N.m (6kgf.cm)
BE#E
Push pull strength 30N (8k
oA E (8kef)
Shaft lever wobble
* -
P 0.7*L/30mmp-p MAX.

Electrical characteristics:E & #Y

M B

Total resistance

5KQ~2MQ
B E
Total resistance tolerance - than 1IMO + 30%
R EE N E £20%  (more than IMQ + 30%)
Rated power
0.05W
ERED
M&EL operating voltage 50V AC /20V DC
EEERSE
Resistance taper AB.C.MN
PE B & 1 .
Residual resistance R=250KQ 0.1% max. of total resistance
R 250KQ>R>10KQ  20Q max.
10KQ =R 10Q max.

Slide noise

BEEE

Insulation resistance
&% B’ m

less than 100mV

more than 100MQ at DC 250V

Gang error fi)r volume control .40 to 0 dB=3dB
ME R = ERA
fgr tone control at center dB=2dB
EEH
Durability:ft A &9 # 8
Rotational life
s o 10,000 cycles




